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1. Which of the following best describes
jom number permutations ?
A sequence of numbers generated
in a random order
{B) A sequence of numbers generated
in a non-random order
(C) A sequence of numbers generated
in an ascending order
(D} A sequence of numbers generated
in a descending order
(E) Not attempted

2. What does ‘limit of quantification’

indicate in environmental analysis ?

{A) Maximum detectable limit

(B) Average concentration level

(C) Time efficiency
Lowest content of an analyte
that can be determined with
acceptable accuracy

(E) Not attempted

3. ____ represents the lowest
content of the analyte that can be
measured with reasonable statistical
certainty.

(A) Linearity
(B) Ruggedness
Limit of Quantification (LOQ)
\Bf Limit of Detection {LOD)
(E) Not attempted

4. Which of the following is not a
physiulogical effect of noise
pollution ?
(A) Increase in heart rate
(B) Lowering of concentration
(C) Pain in the heart
_ Enhancement of color percepton

(E) Not attempted
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5. Jalaluddin - Feroz Iﬂnilp made . his
capital at.
- (A) Sonipat
(B) Kilokhari
(C) Gopalgir
(D) Hansi
(E) Not attempted

6. Smogis a combination of
(A) Snow and fog
Smoke and fog
(C) Soil and fog
(D) Sand and fog
~ (E) Not attempted"

7. Music of Pandit Jasraj belongs to
which of the followinig Gharanas ?
(A) Kirana (B) Agra
(C) Gwalior (D) Mewati
(E); Not attempted

8. What is the role of International
Labour Organization (ILO) in _
‘Occupational Health and Safety ?
(A} Providing financial assistance
(B) Offering technical training
(C) Directly managing workp]ace
ety
Setting and supemsmg
international labour standards

(E) Not attempted

9. Which method of solid waste disposal
involves burning waste at. hlgh
temperatures ?

(A) Composting (B) Landfill

(C) Recycling Incineration
(E) Not attempted
10." Which of the following is not a

method of engineering 'conml ?

’ yﬁnddsure (B) Isolation
(C) Job rotation D) Venﬁ]aﬁon
(E) Not attempted '
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11. What was the primary purpose of the
National Environment Tribunal Bill,
1992 in India ?

(A) Establishing a framework for
carbon credits

/('B/] Setting up special courts for

environmental cases

(C) Regulating the use of pesticides

(D) Promoting renewable energy
sources

(E) Not attempted

Which technique is commonly used

for the analysis of volatile organic

compounds in environmental

samples ?

(A) Liquid-liquid extraction
Static headspace extraction

(C) Acid digestion

(D) Centrifugation

(E) Not attempted

13. Which main indicator organisin

is used in the bacteriological

ination of water ?
\ z E. coli
(B) Salmonella
(C) Vibrio cholerae
(D) Staphylococcus
(E) Not attempted

What is breadth-first traversal of a

graph ?

(A} A method for detecting cycles in a
graph

(B) A method for finding the shortest
Jath between two nodes in a graph
A method for visiting all nodes in
a graph in breadth-first order

(D) A method for visiting all nodes in
a graph in depth-first order

(E} Not attempted
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15. Which type of waste management
process involves micro-organisms ?
Composting (B} Incineration
(C) Pyrolysis (D) Recycling
(E} Not attempted

16. Which disease is caused by excess

\An?ﬂte in drinking water ?

) Blue baby syndrome
(B) Black baby syndrome
(C) White baby syndrome

(D) Green baby syndrome
(E) Not attempted

17. What is ‘Absentecism’ in the context
of Occupational Health and Safety ?
{A) Regular absence from duty
(B) Excessive workloads
AC) Lack of interest in work
voiding safety measures
(E) Not attempted

In environmental analysis, what does

the term ‘analyte’ referto ?
(A) The equipment used for analysis

(B) The person performing the
analysi

ysis
(C) The process of analyzing samples
BT The compound of interest being
analyzed
(E) Not attempted

18.

19. What is the primary role of nitrogen

fixing bacteria in the nitrogen cycle ?

(A) Converting nitrate to nitrogen gas
Breaking down ammonia into
nitrogen and hydrogen

(C) Producing ammonia from
industrial processes

(D) Converting atmospheric nitrogen
into forms usable by plants

(E) Not attempted
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20. What was the primary focus of the 20. TiFEW FeH, 1972 F1 Wofrs &z
Stockholm Conference, 1972 ? ﬁs e 7
(A) Addressing global warming (A) WWWB@W
(B) Promoting nuclear energy _
Protection and improvement of ®) g 3 Hi:ﬁ : E:;R
the human environment (C) I Ffereer il G 3R gan
(D) Wildlife conservation (D) 5= ST %1 Feww
(E) Not attempted (E) Iwiya
21. What role do catalytic converters play | 21, 3I& ¥ IO i 1 i B -
in vehicles ? (a) $97 gmar =t wgrn
(A) Enhancing fuel efficiency (B) :"@a-_'- fFars IR m
B} Reducing nitrogen oxide and IeAHT FY FT BT
hydrocarbon emissions
(C) Increasing vehicle speed © w Tlﬁl e
(D) Cooling the engine (D) F¥1 331 4
(E) Not attempted (E) 3Tsmnfe
22. Which University topped in the Khelo | 22, @« $f¥a gfiaRfd iy (KIUG) 2024 &
India University Games (KIUG) 2024 ? wA-a1 favafiaem i « @I ?
(A) Lovely Professional University (A) FaE SEvE m
(C) Guru Nanak Dev University, (B)
Amritsar (©) ¥ I+ T3 gfafdid,
(D) None of the above (D) SUY & ¥ w7
(E) Not attempted (E) snrnfya
23. What does the term ‘Allergic alveolitis’ | 23. ¥5g “woiii® Teiiensida’ frgd
refer to ? Wi & 7
(A) A type of skin disease (A)ﬁ?‘lﬂﬂiﬂqﬂim
AB) A lung disease from dust (B) 5 % 900 F 3} & Bwal 3 A
exposure
(C) A psychological condition (C) T iy feufa
(D) A form of hearing impairment (D) 1 7 &l 1 & &1
(E) Not attemnpted (E) Iaftm
24. What is the primary use of 24. Wiavfg favew § Qefrda awite
spectrometric techniques in w1 Wy w7
environmental analysis ? .
(A) TV HSRW
(A) Sample storage (B) £

(B) Temperature control
(C) Measuring sample volume (C) T F Hrgmm

) Determining the pollutants (D) SgEHI T FE
(E) Not attempted (E) Js=nfera
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25. Which of the following is a natural 25. Prafafgs § @ ¥w-ar R &1 &
source of radiation ? !‘l?ﬁﬁ'i Had?
(A) Nuclear power plants (A) RrArT wfda g3
(B) Medical X-rays ®) Fufseh x-FReei
4€§ Cosmic rays (C) wirays fantil
(D) Industrial waste D) i smfire
(E) Not attempted (E) Fnwtéa
26. Whatiatt:a]mainchanengein 26. fymmsie X9t 3§ syEwE @es §
occupati health i lopi
oounl::ie: ? in developing e et 7 & ;:d}‘i
(A) High technological advancement (A) 3=4
) Lack of government interest (B) wehr & <
(C) Overabundance of resources (C) wareAl Y AfrgeEn
(D) Too many health professionals (D) 3reafir ey suaardt
(E) Not attempted (B) TR
27. Which of the following is a common 27. Profafss § 8 S-ur =l CaR'C]
household source of noise pollution ? Fri e ﬂﬁﬁﬂ 1 4
(A) Traffic noise (A) TTETETA T 14
(B) Industrial machinery (B) e wefe

Domestic gadgets like mixers and
washing machines

(D) Agricultural equipment

(E) Not attempted

28. :Fchhatis%pﬁmarykcyinadatabase
\ A field that uniquely identifies a
record in a table
(B} A field that allows null values
(C) A field that is a foreign key in
another table
(D) A field that is used for indexing
purposes
(E) Not attempted

Which technique is commonlg used
for heavy metals analysis in liquid

samples ?

(A) Liquid-liquid extraction
(C) Filtration

(D) Centrifugation

(E) Not attempted
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30. Which of the Indian city was a host of the
44"™ World Chess Olympiad in 2022 ?
(A) Hyderabad  (B) Indore

(C) Chennai (D) None of these
(E) Not attempted

31. What is the main effect of

cutrophication in water bodies ?

{A) Improved water clarity

(B) Enhanced water flow

(C) Increased fish diversity

\,[Df Decreased aquatic life due to low
OoXxygen
(E) Not attempted

32. What is Brucellosis’ commonly
known as ?
(A) Dead hand
(B} Undulant fever
\AC] Asphyxia

(D) Bone necrosis
(E) Not attempted

33. What is the main cause of acid rain ?
(A) Deforestation
ction of water droplets present
in clouds with nitrogen oxides and
sulphur dioxide
(C) Emission of carbon dioxide from
vehicles
(D} Natural volcanic eruptions
(E) Not attempted

At which place battle were fought
between Muhammad Ghorj and
Prithviraj - Il in 1191 ?

(A) Gharaunda (B) Taraori

(C) Panipat (D) Kurukshetra
(E) Not attempted
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35. Which festival in Haryana is
celebrated to welcome the monsoon ?
(A) Lohri (B) Gangore
(C) Teej (D) Baisakhi
(E) Not attempted

Which of the following is not a

characteristic of ‘Asphyxia’ ?

(A} Oxygen deficiency

{B) Rapid unconsciousness
Increased energy levels

(D) None of the above

(E) Not attempted

37. Which of the following radioactive

mineral is not capable of emitting
energetic radiations causing
pollution ?

(A) Thorium (B} Plutonium
(C} Uranium (DY Germanium
(E) Not attempted

In ergonomics, what does
anthropometry deal with ?
{A) Human behavior analysis

\/(Bf Human variability in size and

strength

(C) Environmental impact on humans
(D) Psychological aspects of work
(E} Not attempted

Who is the writer of the novel
‘Tute Sapne’?

(A) Urmi Krishna

(B) Santosh Goyal

(C) Rajkumar Nyal

(D} Subhash Rastogi

(E) Not attempted

Which layer of the atmosphere lies

between 10 and 50 km above sea

level ?

(A) Troposphere (B} Mesosphere
\J€) Stratosphere (D) Thermosphere

(E) Not attempted
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41. What is the primary focus of

Occupational Health and Safety

(OHS) ?
&

(A) Increasing profits
(B), Enhancing productivity
\AC{
42. What is the main cause of radioactive
pollution ?

Protecting worker’s health
(D) Reducing employment
(E) Not attempted
(A) Emission of ultraviolet rays
(B) Discharge of organic waste
\/m Release of gamma rays and
electrons

(D) Excessive use of pesticides
(E) Not attempted

What is the primary objective
of the Coastal Regulation Zone
(CRZ) Notification issued by the
Government of India in 1991 ?
(A) To promote industrial
development along the coastline
(B) To regulate fishing activities
along the coastal areas
) To protect and conserve the
coastal environment and
ecosystem
(D) To boost international trade
through coastal areas
(E} Not attempted

What is the purpose of traversing a
linear list ?

(A) To add a new
(B) To remove an

44,

element to the list
element from the
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45. What does ‘Bone necrosis’ result
from ?

(A} Muscle over use

(B) Skin exposure

(C) Lack of blood supply to bones
(D) Psychological stress ’
(E) Not attempted

46. What is a functionin C ?

A block of code that performs a
specific task and can be called
from other parts of the program

(B) A variable that can hold different
types of data

(C) A type of loop statement
(D) A type of data structure
(E) Not attempted

47. N the digits in the number 4376985
are arranged in ascending order, how
many remain in the same position ?
(A) 2 (B) 1

) 3 (D) 4

(E) Not attempted

Which significant action plan related
to sustainable development was a
result of the Rio Earth Summit,
1992 ?
(A) Kyoto Protocol

Agenda 21
(C) Paris Agreement
(D) The Earth Charter
(E) Not attempted

49, What is the primary cause of ozone
layer depletion ?
(A) Carbon emissions
(B) Deforestation
Chlorofluorocarbons
(D) Nuclear radiation
(E) Not attempted

-11-
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50. The Haryana Government'’s
Rs. 10,000 Cr. Clean Air Project for
Sustainable Development is funded by
(A) International Monetary Fund

(B) Reserve Bank of India
(C) The World Bank

(D) None of the above

(E) Not attempted

51. What is the principle of
chromatography used in
environmental analysis ?

(A), Temperature control
} Separation based on different
distribution between phases
(C) Weight measurement
(D) None of the above
(E) Not attempted

52. ‘Gaon Ki Aur’ novel was written by
(A) Rajkumar Nyal
(B) Jayanarayan Kaushik
(C) Krishna Bachhal
(D) Madhukant
(E) Not attempted

53. Animals belonging to phylum -
are fundamentally characterised by the
presence of a notochord, a dorsal hollow
nerve cord and paired pharyngeal gill slits.
(A) Hemichordata (B) Mollusca
(C) Echinodermata (D) Chordata
(E) Not attempted

S4. Which of the following is not a part of
the hydrologic cycle ?
(A) Evaporation of water from the
ocean
(B) Precipitation as rain or snow
(C) Absorption of water by plants
AD) Flow of lava from volcanoes
(E) Not attempted

B -12-
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55. Which sector employs the highest

proportion of India’s population ?
\,m)/psoervice sector

(B) Manufacturing sector
(C) Agricultural sector
(D) IT sector

(E}) Not attempted

§6. Which of the following is a gaseous
air pollutant ?

(A) Dust

) Oxides of sulphur
(C) Particulate matter
(D) Lead particles
(E) Not attempted

57. Which of the following is not a
characteristic of sanitary landfills ?
(A) Compacting and covering waste

with clay or plastic foam
) Separation and recycling of waste
materials
(C) Use of a liner to protect
groundwater from contamination
(D) Covering the landfill with soil and
vegetation after it is full
(E) Not attempted

Which of the following is not an
example of Personal Protective
Equipment (PPE) ?
(A) Safety goggles
(B) Helmet
Emergency shower
(D) Gloves
(E) Not attempted
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§9. Which disease is caused by excess
fluoride in drinking water ?
A) Mottling of teeth
(B) Skin cancer
(C) Respiratory diseases
(D) None of these
(E) Not attempted

60. Which of the following statements
is true about two-way selection in
programming ?

J_A‘)/lt is used to execute a block of
code either if a condition is true
or falge

(B) 1t is used to execute a block of
code only if a condition is true

(C) Itis used to execute a block of
code only if a condition is false

(D) It is not commonly used in
programming

(E) Not attempted

61. ‘Erythema’is associated with
(A) Bone diseases
~ (B) Skin redness
) R&epi.ratoty issues
(D} Vision problems
’ (E) Not attempted

62. The Montrea] Protocol aims to reduce
the production and consumption of
(A) Carbon emissions

Ozone depleting substances
(C) Plastic waste
(D) Greenhouse gases
(E) Not attempted
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63. What is the effect of high concentration
of NO, in the atmosphere ?

(A) Increases photosynthesis
(B) Decreases atmospheric
(C) tl.f:ds
to increase in OXyge
) }él;)ducﬁon "
A uses respiratory diseases and
damages plants
(E) Not attempted

64. The number of terms in the i
kg T expansion
(A) a6 (B) 142
11 (D) 110
(E) Not attempted

65. The lithosphere includes
(A) Only the Earth’s crust
(B) Only the mantle
(C) Only the outer core

Both the earth’s crust and the
upper mantle

(E) Not attempted

66. Whatisa significant effect of water
pollution on ecosystems ?

(A) Increased biodiversity

(B) Enhanced water clarity
Destruction of aquatic life

(D) Improvement of fish health

(E) Not attempted

67. Which city in Haryana approved the
construction of India’s first elevated
railway track ?

(A) Rohtak
(C) Hisar
(E) Not attempted

68. In which of the following districts of
Haryana, Deer Park is situated ?
(A) Karnal (B) Jind
(C) Hisar (D) None of the above
(E) Not attempted

(B) Karnal
(D) Ambala
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69. Which range of frequency is

T1.

considered audible for humans ?
\,{'ﬁ 20 Hz to 20,000 Hz

(B) 10 Hz to 10,000 Hz

(C) 30 Hz to 15,000 Hz

(D) 40 Hz to 18,000 Hz

(E) Not attempted

What is the primary consequence of
the over enrichment of phosphate in
water bodies ?

(A) Increased carbon dioxide levels

) Massive algae blooms leading to
eutrophication

(C) Reduction in water acidity

(D) Enhanced oxygen levels in water
(E) Not attempted

Which of the following process
chemically decomposes organic
materials by heat in the absence of
oxygen ?
(A) Composting

) Pyrolysis
(C) Sanitary Landfi]
(D) Decomposting
(E) Not attempted

Which type of contro} method is used
to limit the amount of time spent by
workers at hazardoys job locations ?

) Engineering controls
(B) Administrative controls
(C) Elimination
(D) Substitution
(E) Not attempted

-16-

69.

70.

71.

72,

GGEEI)%\ie Play

CG - ENgg
aqﬁﬁm-mmw%m
g Q7
(A) 20 Hz ¥ 20,000 Hz
(B) 10 Hz ¥ 10,000 Hz
(C) 30 Hz ¥ 15,000 Hz
(D) 40 Hz | 18,000 Hz
(E) i

ofr Pt § wighe % sty o

ot fons w9 @ 2

(A)*ﬁqmmmgmm

(B) Fraftes darer 3wt Rt v
B

(C) Sl Freeman & wft

(D) 51 § wq1 gan st w0

(E) Imwenfem

AR B Iiqufeufy § Fom go AR
Rl i Tt sty =) 6
s B 2 7 '

(A) SR

(B) A9 Fugzy

(C) W= wurd a1
(D) e

(E) stvanfia

QAT FH THE] G FEIR g A
T it w0 ¥ R e oA

v fafty &1 R e e @ 7

(A) PR frmo

(B) wemafys o ]
(C) I

(D) g

(E) v


https://applink.adda247.com/d/XhqWf9lSap

Adda

e

73. What is a latch in digital electronics ?
(A} A circuit that performs arithmetic
operations
(B) A device used for data encryption
\ICHA sequential logic circuit that
stores and remembers data
(D) A component that generates clock
signals
(E) Not attempted
74. Keratosis’is primarily caused by
(A} Genetics
(B) Sun exposure
\/(Ci Chemical exposure
(D) Physical trauma
(E) Not attempted

-

5. What is the purpose of a comparison
function in programming ?

(A) To perform arithmetic calculations
(B) To validate user input

o compare two values and
determine their relationship

(D) To handle errors and exceptions
(E) Not attempted
76. Which method is used for |
determining moisture, oils and grease
content in environmental samples ?
‘\/dl Titrimetry
(B) Gravimetry
(C) Chromatography
(D) None of the above
(E}) Not attempted
77. If the sum of n terms of an arithmetic
progression is given by S_=n? + n,
th‘en the‘oomnmn difference of the
arithmetic progression is
(A) 4 (B) 1

N 6
(E) Not attempted_m) )
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78. Under the Bio-medical Waste
Management Rules, 1998, which
color coding is generally used for
containers meant for the disposal of

h anatomical waste ?
\ ,(;) Yellow (B) Red

(C) Blue (D) Black
(E) Not attempted

79. What is the main effect of the
depletion of the ozone layer ?

(A) Decrease in sea levels

(B) Increase in global temperatures
(C) Reduction in air pollution

) Emission of harmful ultraviolet
(UV) rays to Earth

(E) Not attempted

80. What is referred to as Nardak’ in the
Context of the older alluvial plains in
Haryana ?

(A} Areas with high soil moisture

(B} Plains with deep layers of kankar
nodules below the root-zone

(C) Flood plains of major rivers

(D) Regions with extensive
agricultural machinery use

(E) Not attempted

81. What are the two categories of
ional hazards ?

A). Physical and Mental

(B) Safety and Health

(C) Internal and External

(D) Short-term and Long-term

(E) Not attempted

82. Which method is used to determine
the Biological Oxygen Demand (BOD)
in water ?

(A) Turbidity Test

(B) pH Ml;n_asurement

(C) Conductivity Test
\_(Df\ Dissolved Oxygen Test

(E) Not attempted
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83. Which gas is highly poisonous due to
its ability to block oxygen delivery to
organs and tissues ?

(A) Carbon Dioxide (CO,)
(B) Nitrogen (N,)

C) Carbon Monoxide (CO)
(D) Oxygen (0,)

(E) Not attempted

84. What is the key characteristic of a

ripple carry adder ?

(A) It generates a carry-out signal at
each stage

\/@r-lt uses look ahead logic for carry

generation -'

(C) It has reduced gate count
compared to other adders

(D) It exhibits constant propagation
delay

(E) Not attempted

85. _ isradioactive and emits low
energy B particles (t,,, 12.33 years).
(A) Protium

(E) Not attempted

86. The term ‘ergonomics’ derived from

(A) Latin words meaning ‘work
science’

(B) German words meaning ‘work
dynamics’

(C) French words meaning labor
studies’

(D) Greek words meaning ‘work laws’

(E) Not attempted
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87. What is the main
of composting in solid waste
management ?
(A} To reduce the volume of waste for
landfilling
(B) To convert organic waste into
nutrient-rich manure
(C) To incinerate waste materinls
efficiently
(D) To separate hazardous waste
from non-hazardous waste
(E) Not attempted

What is hydrosphere 7 -

(A) It includes o
water

(B) Itret'eratotheaolidpartofEarth

(C) Itis only involved in the water
cycle

nly underground

(D) It includes all forms of water on
Earth

(E) Not attempted

89. The Public Liability Insurance Act,

(A) Damage to public property

(B) Personal injuries in public places |

(C) Relief to victims of accidents

related to handling hazardoys
substance

(D) Compensation for enviroﬁmenta.l
pollution

(E) Not attempted

DeMorgan’s Theorems are used to
(A) Perform bitwise operations

(B) Perform logical AND operations
(C) Perform logical OR operations
D) Simplify boolean expressions
(E) Not attempted
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91. What is the primary aim of
ergonomics ?
(A] To design efficient machines
) To ensure the job fits the person
(C) To increase job satisfaction

(D} To improve technological g
B
=

advancements
respectively the

(E} Not attempted
92. IfQ, E and W denote
heat added, change in internal energy
and the work done in g closed cycle
process, then
A)E=0
\/{C) W=0

(E) Not attempted

(B) Q=0
D) Q=w=0

93. Haryana Police and the Department of

Women and Child Development have
launched a 10 trace and

rescue the missing children of State.
(A) Operation Children

(B) Operation Beti Bachao
(C) Operation Muskan
(D) None of the above

(E) Not attempted
94. What defines biodegradable waste ?

(A) Waste that can be recycled
\/QBf Waste that decomposes naturally

{C) Non-organic waste

(D) Toxic waste

(E) Not attempted
95. What is the primary environmental
concern associated with accidental oil
leakage ?
(A) Decrease in water salinity
(B) Increase in water temperature
(C) Reduction of water clarity
\{Pf’ Damage to local marine wildlife
(E) Not attempted

91.

93.

94,

985,
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96. Which of the following is a cause of
water pollution ?
(A) Pathogens (B) Ozone depletion
\AC) Acid rain (D) Global warming
(E) Not attempted

97. What defines noise pollution ?

(A) Unwanted sound

(B) Only industrial sound

(C) Only traffic sound

(D)} Sound of nature

(E) Not attempted

—— in chemistry is assuming
that chemical analysis is based

on sampling and measurements,

both stages contributing to the
measurement uncertainty.

(A) Chromatography

(B) Metrology

(C) Concentration

(D) Chemical dissolution
(E) Not attempted

Which of the following is not a
segment of the environment ?

(A) Atmosphere (B) Hydrosphere
(C) Lithosphere (D) Cryosphere
{E) Not attempted

First Post Office Passport Centre of
Haryana was established at

(A) Kaithal

(C) Jind

(E) Not attempted

100.

(B) Hisar
(D) Karnal
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